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The figures in the margin indicate full marks. 2o FF 5:% Tl Q"ﬁ?ﬁ? et F 1
Candidates should answer in their own words AT e SrFIET I T NG W
and adhere to the word limit as practicable. Tes PRI
1. Answer any eight questions from the following: 2x8 =16
efeiie @@ St v Tea wes
(a) What is Action Potential?
REINSICEEI
(b) Which part of the heart is called ‘Pacemaker’ and why? 1+1

ZET (I SRAP “CPPITIR 0 IR A 2

(c) What is ‘Juxta-Glomerular’ Apparatus?
‘G- (AT T Y 9 ‘

(d) Distinguish between compound lipid and derived lipid.
T EPre 6 o1 @ifses sty =i @)

(e) What do you mean by ‘residual volume’ of lung?
TGO SRR S T F QIR 2

(f) What is ‘Rh’ factor?
‘Rh’ factor & ?

(g) From which cell HCl is secreted in human stomach?
WA #IEaNa (IR (P18 (R HCl FRe a1 9

(h) What do you mean by ‘gluconeogenesis’?
‘FpraifersateT Fore T @Rl 9

(1) What is the function of relaxin?
feTIfEm-93 & @l

(j) What do you mean by proteolytic enzyme? Give two examples. 1+1
@foeaiEfoT TLHvS F ¢ 1o Trigad wie |

(k) What is sarcomere? Name different contractile protein present in it. 1+1
HRCHIRER F 9 AR 76 Fibe @ibeae A @

() Name two hormones regulating menstrual cycle. 1+1

T35 ngEeipIAl wib ZACICR IS @I
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2. Answer any three questions from the following:

fsfeiRe @-ceia foaft evss Teq wies

(a) Describe the structure of a neuron in brief with simple diagram.

" v TR @l ST (RTRIR) 919w FROCH I IR

(b) Explain the steps of Glycolysis with a flow chart.
b @Ifbras MR ARPITET qrovefer ran Fet

(c) Classify protein with examples.
Tzl egane! e eMRes Fe)

(d) State the significance of ‘counter-current’ mechanism of kidneys.
T FITOR-FIRD” o7 Oleord I Il

(e) Write the hormonal control of spermatogenesis.

N CBIEAR Haod TN fFaEe 3% T90E TRTHC el

3. Answer any three questions from the following:
fsiie Q- foqf ets Teg wes

(a) Differentiate between reducing and non-reducing sugar. How lipid is absorbed in
alimentary canal?

weed @ Remesd s side @l Tl e et e 1 ¢
(b) What is ‘SA Node’? Draw and label T.S. of mammalian heart.

‘SA Node’ F1 ¢ Ti3-ZefP0e7 b erzrrere 72 o wre wta e s
(c) Draw and label the histological structure of mammalian pancreas gland.

BAia S afEe ST S0 oEe Fed Biee el

(d) What do you mean by blood coagulation? Describe in brief the steps involved in
blood coagulation.

TGO O 9 @I 9 T&-0HT [ getefer SR 36w
(e) Enumerate the mechanism of urine formation in human with suitable diagram.

oS TR WA T Tesiiw siafes fRae wie |
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